Thousands
Hundreds

 Whole Numbers

4537 can be read as fnur thnusand

five hundred thirty-seven. moone
e @.
Write the numbers, @

- © QLTho,Us{cmds 5 ,Iﬁun.dre.ds: T ten
@ ',"",Zlglfhbusqrjds 2 hundreds 6 tens 2 ones
@ V‘Qhé_fﬂweumnd nine hundred thirty-five
®

_"fs'itx‘:‘ffhousand three hundred seventy

Wirite the numbers in words.
® 1465
2089
7214
()305

Q @

©

Write the expanded form or standard form of each number.

© 4435=4000+__ +30+

® 2567 = 2000 + , n .
@ 8310:________,__+30'0+

® 6027 = _—-.——;———»+,20 i ___‘___ o St
© = 1000 + QO + 2 » - 7854 7000 +800 F50+4

Expanded form can show the value
uf each digit.
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Eill in the missing numbers.

® 4250
8170
® 9863
® 5309

Circle the greatest number in each group.

@

4251
8270
8863
5209

23384
3718
8540

6205

—

4832
3118
8504

60562

Write the place value and meaning of
aach highlighted digit. |

4253

6863




AT
Put the numiers in order from greatest 1o least,

@ 2380 3280 8230 8032

@ 1209 2519 1205 2195
®@ /432 2374 7324 3274
6201 6021 6102 6012

Place the numbers on the number lines. Then round ihem fo the nearest 100.

® 32/5isroundedto 4816 is rounded to
| ! | | L l
3200 3250 3300 4800 4850 4900
® a. 1468isroundedto.__ . b, 1523 is rounded to
c. 1209 isroundedto . d. 1055is rounded to
e. 1084 isroundedto__ . f. 1390is rounded to
I I I ! { 1 L
1000 1100 1200 1300 - 1400 1500 1600
A number halfway between 2
v numbers is rounded to the larger T
number.

| had a vacation. The amount shown
on mybill is a 4-digit number. The digits
are 7,4, 9, and 1. | am so happy to
pay this amount. Do you know how
much | just need to pay?




pead the clues. Find the weighis of the animals and answer the questions,

pe

® Cati g Dog: g FHsh:t g
Rot: O Raccoon: g Rabbit: J

Which animals weigh more than 2500 g7

Which animal is the heaviest?

Which animal is the lightest?

Which two animals differ by 480 g in
weight?

The weight of Uncle Ray is 10 times

mber by 10, 189,

- u
\When you multiplya 9 gr 3 26r0es

or 1000, you caft just add h\,r |
to the right of that num gd.d \ 10

that of the dog’s. How heavy is
Uncle Ray?

gg. 20X 10 =2t add 2 zeroes
r )




Circle the correct answers,

pe _
A fraction whose numerator is smaller greater than

its denominator s called a proper fraction, % %— is an

example of proper fraction. A fraction whose numerator is
smaller  greater than its denominator is called an improper

fraction, such as —S— é . A number that is the sum of a

whole number and a proper animproper fraction

3

is called g mixed number; |1 10 3 is a mixed

o Look af the balls on the shelves. Fill in the blanks with fractions.

@ - or boxes of balls are red,

Wixed numbar Improper fraction

or boxes of balls are yellow,

Mixed numher [mproper fragtion

or boxes of balls are purple.

Mixed number Improper fraction

of a box of balls are green.
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Write a fraction for the shaded parts of each picture. Then compare the fractions and

put > or < in the circles.
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To compare fractions with the same denominatfor, compare their numerators.

e.g. —é— is smaller than 3 because 1 is smaller than 3.

5 -
s ()4 © 15 )
'é“ w ) % © % N, %
%— Q 1 5t )75
1% w}) l% @ 3_25
) 4__]‘% ng 3% . Qé_

Put the fractions in order from greatest fo least.

sy 2o
175 15 5 15
® 23 2% 2 3—3—_
® 32 22 24 3—2—

The clown has 2 sets of forks which are green, red, or purple.
lf'1—15— boxes of forks are not purple and —g— of a box of forks
are red, what fraction of a box of forks are green?

| | of a box of forks are green. '
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: There are 10 rings. T-O—OT There are 8 stars. 5 of the
the rings are red. —% are  stars are yellow. —‘%- are green.
| green.' The rest are pink. The rest are red.,
of the rings are pink. of the stars are red.

3, pes
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® There are 15 balls. —% of ® There are 4 red keys, 7 blue

the balls are orange. —-% keys, and 3 green keys.
are yellow. The rest are
red or green. The red
balls and the green balls

are the same in number.

of the keys are red.

are blue.

are green.

of the keys are not red,

of the balls are red,

are green. _ ofthe keys are not blue.



